


V\/Z‘I( ﬁ/3~1<1~/(-r}/1 = I (ﬂi‘/{r) I:\{f_'
AT 2Ry
b’(/*/
0CT) = £(Ts) ﬂ_[ ) Te= 3%7°C
8(134 ¥ -r’-) 7 -7 T) = - 5 -~ 0. fftf
< -Hr)ﬂ.-[ e 3:115“’”L « =TT (;ub)l': *

e(T) = & (2+A(T-Td) = E(2+3aT)
vo(r)= T ((#a- & -®RXaT)

W(3#%¢) = T (Ra-8) =0
“r= '—?(ﬁa_-:Z: '2-15.‘5-7JL(







AV[:/ a% [

ZA

B 23¢.66 N
ar‘:

/_7550(:) - 235.53 AL
-2,
| ¢

- 1.4% 2
AR =

-4
°(:3 Rr= a¢”* &
#0

14S.130
2,=

/
5 Mo~ EANS RE .
= Zle‘jL I
AR =



%EJAJTO I <

1 T = T x 9:" e
T O b 25 S T
[/ \ OLTs-Tx= AT = &4
\,/\l‘ —
P _ .
R = RTCTS_)I AUTORISC ALP AIIETD
”\
Leg = LL(_/L*OQJ_AT/ AT = T Ty /
L VGLe;LLD2ZI0NME > @
:<L= 'P/’ .
o= &( 36 +Lza) =224 %) L
(6 172
LSRR S . f_ar: 1.5 "CJ

T, = TxtaT = 2705 C




l(@i— 2(75))

—

—

@a1-R(CTs) _ 0.05 C

~A &



